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AXSHH A2 S (LSI /XY - HEXH)

SEHNMEE (SH9 H2)
A 2N B G(B) - NRAY - BES 0 &y ol B o HIRS
stg gt 815,175,864 59,960,866 218,214,998

e 0 50,000 50,000
< 815,175,864 596,910,866 218,264,998
AXSHO M2 S (LSS /RNLHE - HERIH) 623,536,824 515,239,381 108,297,443
sEHM2E 623,536,824 515,239,381 108,297,443
M 28X 148,606 55,606 93,000
201 LEH2 | 10,000 0 10,000
03 A2 I 10,000 0 10,000
OMESLeAas 10,000 0 10,000
303 a2 99,000 16,000 83,000
01 Z&Z 99,000 16,000 83,000
LelSHAR=AIZAIY 51,000 0 51,000
LIEEAL=2 A 32,000 0 32,000
ENEHNABESES 813,300 313,300 500,000
201 fer=3| 500,000 0 500,000
01 At2t2l] 500,000 0 500,000
g et==2H| 500,000 0 500,000
OZetREIIESSI I ASE G RAIAES/NRY
500,000 0 500,000
SEHE2Y 2,013,610 3,131,610 1,118,000
307 2I2t01 382,000 1,000,000 618,000
02 2IZHBYAIAE & 382,000 1,000,000 618,000
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EPSIME=] 619,799, 145 510,976,702 108,822,443
308 XtXIEMSO0IE 619,799, 145 510,976,702 108,822,443
04 Al - 2X2HDRS 619,799,145 510,976,702 108,822,443
ESFSIME=, g3 619,799, 145,000 619,799,145 510,976,702 108,822,443
T2l (oulgl/oeigl) 82,000,000 64,082,445 17,917,555
ES 0 50,000 50,000
< 82,000,000 64,032,445 17,967,555
oIt 82,000,000 64,082,445 17,917,555
e 0 50,000 50,000
< 82,000,000 64,032,445 17,967,555
Gl]la 82,000,000 64,082,445 17,917,555
e 0 50,000 50,000
< 82,000,000 64,032,445 17,967,555
801 OfielH 82,000,000 64,082,445 17,917,555
e 0 50,000 250,000
[ 82,000,000 64,032,445 17,967,555
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OTal - = AobIE 23S 35,000,000,0002 35,000,000 15,000,000 20,000,000
0B UERE2 0 2,082,445 A2,082,445
OURRES(HHY) 0 2,082,445 NA2,082,445
A 0 50,000 A50,000
< 0 2,082,445 NA2,082,445
WS (0l areeah) (L33 T/UE - 28) 109,572,000 17,572,000 92,000,000
=RSHNES 94,632,000 2,632,000 92,000,000
xS arE 94,632,000 2,632,000 92,000,000
601 XSRS A& 92,000,000 0 92,000,000
0B SYHIRAIASAE 92,000,000 0 92,000,000
D20 SXL 2348 92,000,000 0 92,000,000
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02E8= =& 13 ditaH Jl8xda
A= JI=EFA A NEEg2
A N=MHROIBEL (LS S/E/ NS SE - WEXRH)

ol XPA2g2el EER=E)
A2 2A - BB O(BH) - MRAY - BAS 0 &y ol B o HIRS
NEgg2 498,037,390 423,125,390 74,912,000

= 2,353,873 2,353,873 0

< 495,683,517 420,771,517 74,912,000

NHFEHEDetrd (L33 /N LSS - HEXH) 36,069,330 35,920,330 149,000
= 2,353,873 2,353,873 0

< 33,715,457 33,566,457 149,000

KLA2E 22l 1,091,023 92,023 149,000
NLgAE2g2el 1,074,023 935,023 139,000
201 Ler23 | 128,600 19,600 109,000

01 At2t2ltl 128,600 19,600 109,000

g et==ZH| 118,200 18,200 100,000
OLEAEIIESEE 100,000 0 100,000
Uegsg 10,400 1,400 9,000
OLEARI I =2Sa2A/AS2E Y 3,000 0 3,000
OgdsddaRs 2 6,000 0 6,000
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NRESREE 25t 17,000 7,000 10,000
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OXEMASEEnZUH3 10,000 0 10,000
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